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Meeky Mouse wants to get the ball bearing up and out
of the bowl, but the ball is too heavy and the sides of the
bowl too steep for Meeky Mouse to support the ball’s
weight. Using only its own strength without the help of
levers and such, Meeky -

a) can’t get the ball bearing up and out
b)can get the ball bearing up and out (But how?)




oaed Oscillobions ond Kesenance

EJ addibiovial fonz(s) b  eScdlater

J’“’llﬁ = -kﬁ“ + F-{'{')
dt?

o M F consteat (@-3. wﬂww, Lowr acnm Gde )
> SHM ap before with w' Uor , fres, £ “han .

« Ofken , FH) is alo peradic with dnving frequencsy o
€.q. mud jonts o freewmy, push ascing, sing anske
tops coing bAdge at wine glas )
System. absords ewgy fom diviyg o cAun o
s i bue” vtk natwal freg. ,te. fp=-f
9 MeSonaa@ ¢ tueny Cycle alksorbs ey

od Stae E =l kR: amplihde A T also bl

ety put = Work dowe against fackion .
f:ul‘ Sﬂ#&ﬂuiqi?ﬁh/

e

RE t_;m-:d.L d‘-’b"ﬁ“’“}

.  op darg?gy -
; “7 -'_il"l:u"fﬁ J}?‘I, -FI;,




